DAY K# 25 R 12 B 0 8% R M L2
3A228 a2 M F41 Mgz 21m50 (161P) 5
Mg HEF F46 fi st 3% 12m17(984P) 1
=2t XF F44 fie . 3% Tmb2 (255P) 1
B2t FRE 147 100m 12°40]-0.3] 6
EH £l 147 100m 11"64[ 0.3 2
fEigk = 144 100m 127061 -0.3] 5
ki BE 143 100m 14'38[-0.3[ 8
HEin &£ 137 100m 13'25[-0.3] 7
WA 5 142 100m 13"25[+1.8] 3
FIE _EAX 142 100m 16.64[ +1.8( 7
MNEH EX 142 100m 14'08|+1.8] 5
BRI Ek 112 100m 11°65|+1.5] 3
ey Bk 112 100m 12707[+1.56[ 7
/NFEIF B T12 100m 11°96]-1.0] 5
=% B4E 144 100m 13752]+0.8] 1
=8 _BhE 147 100m 13"57]+0.8] 3
= GE 138 100m 14762]+0. 4| 4
HME B 142 100m 17720 +1.0| 4
Bl 4R 142 100m 17700 +1.0] 3
24 M 135 100m 197471 +1.0] 9
Hdg 7 F12 PUE 48m36 (657P) 3
N BF 153 100m 18767 +1.2| 4
&R _BF 134 100m 21729/ +1.2| 6
EH_#l 147 ENEEk 6m82 (935P) [ +1.2 | 1
e 142 EYIR 6m11(854P)[-0.3] 2
MNEH EX 142 E Mz Bk 4m96 (336P) [ -1.1] &
EiE M= 143 E Mz Bk 4m02 (6P) [ -1.5[ 9
WH [k 151 100m 28725/ -0.2] 5
NS 152 100m 19773]1-0.2] 3
E M TES 154 100m 14766| +1.0] 2
E B 154 100m 15761[+0. 1 9
B_EX 154 100m 15"09{ +1.0f 5
£z Eh 134 100m 18761]1-0.7[ 4
WER Bk 112 E M Bk 5m27 (260P) [ +0.0] 5
HE HX 137 1500m 436712 5
Eik R4 152 1500m 354”00 1
NA EH=E 152 1500m 505778 2
CR TS 153 1500m 353”78 2
AR _1EE 154 1500m 3" 08766 5
BEE 153 1500m DNF
E B 154 1500m 306734 3
RO BE 154 1500m 3" 05760 2
sn A RA 154 1500m 309705 6
Bt 5 154 1500m 3738739 12
ZEFI—7Y 154 1500m 3°09752 1




